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December — Examination 2023

M.Sc. (Final) Examination
CHEMISTRY

(Synthetic Organic Chemistry)
Paper : MSCCH-07

Time : 3 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carry 2 marks.
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1. (1) What do you mean by Birch Reduction ?
o TEEE W MY N GEEd § 2
(i1)) What are non-Benzenoid aromatic
compound ? Give two examples.
AA-s~Ee WHfes AR sl a1 ISRl 4§
HHHATST |
(ii1) How will you obtain :
HY I AT
(a) Tropone from Anisole ?
e 9 2aE 2
(b) 2-Amino tropone from tropone ?
29E § 2-THEAN IO ?
(iv) Complete the following reactions :
frefafea sifafswanet &1 gl i .
Li/NH,
@) CHoH > ©
I
(b) @— C—CH,—CH,— CH,4
Zn-Hg
>
Conc. HCI
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(v) Give the product of the following reaction : (viii) Explain One group C-X disconnection with

= erfuferen =1 Scg =Ry suitable example.
SUgH Qe §N ThA 998 C-X fewmiwmm

R.C—C_R Na +lig. NH 7 % FHEET |
(vi) Give the rwo important characteristics of a Section-B 4x8=32
good protecting group. (Short Answer Type Questions)
T =0 GrefeR R & ar TEYUT ST ST | Note .— Answer any four questions. Each answer should not
(vii) Complete the following reactions : exceed 200 words. Each question carries 8 marks.
' U —a
a —C —
(@ R ﬁ Cl+Et,Zn — A (w1 T T

fdor:- 5l o) uvdl & S STl emw et S &l
sfererae 200 gt H UREfqa wifSw) v@w 93d

8 3% H Tl
Me,CuLi 2. Give the synthesis, properties and chemical reaction
®) A of tropolone.
IO & oM i faft, ot 9 vt sifufwe
OTS fafem |
frfafaa sfufweet & gof Fif - 3. Explain the term selectivity and reactivity of an

oxidizing agent with example.

AR RE ISt 1 TIACHe A TS fHamierar &

O 3RO G HHEATRT |

4. What is Protecting Group ? Describe the use of
acetals and ketals as protecting groups for Carbonyl

(37) R—(”’—C1+Et22n — A

Me,CuLi A compounds.
() A, THE FN T 2 HIEiTe ARt & fore Teres
TPl & ®9 H Tfdeed iR fReew & SwEm @1 gl
OTS HIST |
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5. Using butadiene as one of the precursor how would

you plan the synthesis of the following ?

SR &l WRER & €9 H ITAN Hd gL
frafafen &1 Feero w8 HAT 2

0 0
NN,

(II)

. Write notes on the following :
(i) Michael Addition reaction
(i1)) Robinson Annulation
frefafea w fewfrr fafea :
(i) ke AT Tfufsan

(i) AfeeT T

. Write short notes on the following :

(i) Clemmensen’s reduction

(i1)) Reduction of aromatic nitro group
frafafea = dfya femfrt fafe .

(i) T IEEA

(i) TUAfeH AR YR K1 I=IH
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. Explain the following chemical reactions of

Ferrocene :

(@) Mannich reaction

(b) Mercuration

(c) Nitration

(d) Sulphonation

T w1 A Tt sfufswenstt o ausmse
(1) #f=r sifufsman

() TR

(®) R

(%) HTRMIHT

. Write short notes on the following :

(@) Bogert Cook Synthesis

(b) Chemical reaction of Phenanthrene
Frafafea w— dfya femfrt fafe

(1) S H/F AT

() HAUH 1 TEEtTE sttt

Section—C 2x16=32
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.
Each question carries 16 marks.

MSCCH-07/8 (6) TC-508



Lig—H
(" I 99)

e - forsl S wel & SW SIS 3T ot SR W Stfiehan

10.

11.
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Write short notes on the following :
(a) Addition
compounds

reaction  of  organolithium

(b) Carey-House synthesis

(c) Application of organomagnesium halides
(d) Preparations of organocopper compounds
frafafen ® wfva femfirel fafe

(31) wrefate™ TRt w1 Grmerd st

(9) R TEH TIATT

(H) FETHRET taEed & STIaan

() hreehRITT ATt 1 fa=m

[Mlustrate the use of following as protecting group
in oragnic synthesis :

(1) BOC Group

(ii)) CBZ Group

= #1 s g ® 9§ FEe GvaWe o
ST TAART

() BOC 97

(il) CBZ 99z
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12. Explain any two properties, any four chemical
properties and Molecular Orbital diagram of
ferrocene.

HIEE & o w8 < fafel, |8 \w vt
sifufsramd qen o7] warw fo @1 TwemET)

13. What do you mean by one group C-C
disconnection ? Explain one group disconnection
of Alcohol and Simple Ketone.

T T8 C-C Yo § 79 901 99 § ? Uoohlead
T WA D2 H TH THE JUhed Dl THIET |
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